

# ON THE BEZIER VARIANT OF SRIVASTAVA-GUPTA OPERATORS\*

Nurhayat Ispir and Ismet Yuksel†

Received 27 August 2004

## Abstract

In the present paper, we introduce the Bezier variant of a general sequence of linear positive operators introduced by Srivastava and Gupta [8] and estimate the rate of convergence of these operators for functions of bounded variation.

## 1 Introduction

To approximate integrable functions on the interval  $[0, \infty)$ , Srivastava and Gupta [8] introduced a general sequence of linear positive operators  $G_{n,c}$  and estimated the rate of convergence of  $G_{n,c}(f; x)$  by means of the decomposition technique for functions of bounded variation. Let  $B_r[0, \infty)$  be the class of bounded variation functions satisfying the growth condition

$$|f(t)| \leq M(1+t)^r, \quad M > 0, r \geq 0, t \rightarrow \infty.$$

For a function  $f \in B_r[0, \infty)$ , the operators are  $G_{n,c}$  defined by

$$G_{n,c}(f; x) = n \sum_{k=1}^{\infty} p_{n,k}(x; c) \int_0^{\infty} p_{n+c,k-1}(t; c) f(t) dt + p_{n,0}(x; c) f(0) \quad (1)$$

where

$$p_{n,k}(x; c) = \frac{(-x)^k}{k!} \phi_{n,c}^{(k)}(x)$$

and

$$\phi_{n,c}^{(k)}(x) = \begin{cases} e^{-nx}, & c = 0 \\ (1+cx)^{-n/c}, & c = 1, 2, 3, \dots \end{cases}.$$

Here  $\{\phi_{n,c}(x)\}_{n=1}^{\infty}$  is a sequence of functions, defined on the interval  $[0, b]$ ,  $b > 0$ , satisfying the following properties: For each  $n \in N$ ,

---

\*Mathematics Subject Classifications: 41A25, 41A30.

†Gazi University, Sciences & Arts Faculty, Department of Mathematics, 06500, Teknikokullar, Ankara, Turkey

- (i)  $\phi_{n,c}(x) \in C^\infty[a, b]$ ,  $b > a \geq 0$ .
- (ii)  $\phi_{n,c}(0) = 1$ .
- (iii)  $\phi_{n,c}(x)$  is completely monotone so that  $(-1)^k \phi_{n,c}^{(k)}(x) \geq 0$  for  $k \in N$ .
- (iv) There exists an integer  $c$  such that

$$\phi_{n,c}^{(k+1)}(x) = -n\phi_{n+c,c}^{(k)}(x), \quad n > \max\{0, -c\}; x \in [a, b].$$

Zeng and Gupta [9] introduced the Bezier variants of the well known Baskakov operators, after this Gupta and collaborators in [1-4] have introduced and studied the rate of convergence for different summation-integral type operators. The general sequence of operators  $G_{n,c}$ , introduced by Srivastava and Gupta [8], have many interesting properties in approximation theory, also Bezier curves play an important role in computer aided geometric design which have many applications in applied mathematics and computer sciences. This motivated us to study further in this direction and we now introduce the Bezier variant of  $G_{n,c}$  operators. We define, for  $f \in B_r[0, \infty)$  and for each  $\alpha \geq 1$ , the Bezier variant of the operators  $G_{n,c}$  as

$$G_{n,c,\alpha}(f; x) = n \sum_{k=1}^{\infty} Q_{n,k}^{(\alpha)}(x; c) \int_0^{\infty} p_{n+c,k-1}(t; c) f(t) dt + Q_{n,0}^{(\alpha)}(x; c) f(0) \quad (2)$$

where  $Q_{n,k}^{(\alpha)}(x; c) = J_{n,k}^\alpha(x; c) - J_{n,k+1}^\alpha(x; c)$  and  $J_{n,k}(x; c) = \sum_{j=k}^{\infty} p_{n,j}(x; c)$ .

The aim of this study is to estimate the rate of convergence of the operators  $G_{n,c,\alpha}$  for functions of bounded variation. It is obvious that  $G_{n,c,\alpha}$  are linear positive operators and  $G_{n,c,\alpha}(1; x) = 1$ . In the special case  $\alpha = 1$ , the operators  $G_{n,c,\alpha}$  reduce to the operators  $G_{n,c}$  defined by (1). We have the following particular cases:

*Case 1.* If  $\alpha = 1$  and  $c = 0$ , then the operators  $G_{n,c,\alpha}$  reduce to the Phillips operators

$$G_{n,0,1}(f; x) = n \sum_{k=1}^{\infty} p_{n,k}(x; 0) \int_0^{\infty} p_{n,k-1}(t; 0) f(t) dt + p_{n,0}(x; 0) f(0)$$

where

$$p_{n,k}(x; 0) = e^{-nx} \frac{(nx)^k}{k!}.$$

The Phillips operators are introduced in [6,7].

*Case 2.* If  $\alpha = 1$  and  $c = 1$ , then the operators  $G_{n,c,\alpha}$  reduce to summation-integral type operators

$$G_{n,1,1}(f; x) = n \sum_{k=1}^{\infty} P_{n,k}(x; 1) \int_0^{\infty} p_{n+1,k-1}(t; 1) f(t) dt + P_{n,0}(x; 1) f(0)$$

where

$$p_{n,k}(x; 1) = \binom{n+k-1}{k} x^k (1+x)^{-(n+k)}.$$

These operators has been studied by Gupta et al. in [5].

Therefore, for the operators  $G_{n,c,\alpha}$  defined by (2), in the case of  $c = 0$  and  $c = 1$ , we obtain Bezier type of the Phillips operators given *case 1* and Bezier type of the summation integral type operators given *case 2*, respectively.

Alternatively we may rewrite the operators (2) as

$$G_{n,c,\alpha}(f; x) = \int_0^\infty K_{n,c,\alpha}(x; t) dt$$

where

$$K_{n,c,\alpha}(x; t) = n \sum_{k=1}^\infty Q_{n,k}^{(\alpha)}(x; c) p_{n+c,k-1}(t; c) + Q_{n,0}^{(\alpha)}(x; c) \delta(t) \tag{3}$$

and  $\delta(t)$  is the Dirac delta function.

## 2 Auxiliary Results

In order to prove our main result we require following lemmas.

LEMMA 1 ([3,8]). For all  $x \in (0, \infty)$  and  $k \in N$ ,

$$p_{n,k}(x; c) = \begin{cases} \frac{1}{\sqrt{2enx}}, & c = 0 \\ \sqrt{\frac{1+cx}{2enx}}, & c = 1, 2, 3, \dots \end{cases}$$

where the coefficient  $1/\sqrt{2e}$  and the estimate order  $n^{-1/2}$  are best possible.

LEMMA 2 ([8]). Let

$$\mu_{n,m}(x; c) = n \sum_{k=1}^\infty p_{n,k}(x; c) \int_0^\infty p_{n+c,k-1}(t; c) (t-x)^m dt + (-x)^m p_{n,0}(x; c).$$

Then

$$\mu_{n,0}(x; c) = 1, \mu_{n,1}(x; c) = \frac{cx}{n-c}, \mu_{n,2}(x; c) = \frac{x(1+cx)(2n-c) + (1+3cx)cx}{(n-c)(n-2c)}$$

and

$$\mu_{n,m}(x; c) = O(n^{-[(m+1)/2]}).$$

LEMMA 3. For all  $x \in (0, \infty)$ , we have

$$n \int_x^\infty p_{n,k}(t; c) dt = \sum_{j=0}^k p_{n,j}(x; c).$$

LEMMA 4. Let  $x \in (0, \infty)$  and  $K_{n,c,\alpha}(x;t)$  be defined by (3). Then, for  $\lambda > 2$  and for sufficiently large  $n$ ,

$$(i) \beta_{n,c,\alpha}(x;y) = \int_0^y K_{n,c,\alpha}(x;t)dt \leq \frac{\alpha\lambda x(1+cx)}{n(x-y)^2}, \quad 0 \leq y < x,$$

and

$$(ii) 1 - \beta_{n,c,\alpha}(x;z) = \int_z^\infty K_{n,c,\alpha}(x;t)dt \leq \frac{\alpha\lambda x(1+cx)}{n(z-x)^2}, \quad x < z < \infty.$$

PROOF. First, we prove (i). In view of Lemma 2 and the inequality  $|a^\alpha - b^\alpha| \leq \alpha|a - b|$  which is valid for  $0 \leq a, b \leq 1$  and  $\alpha \geq 1$ , we have

$$\beta_{n,c,\alpha}(x;y) \leq \int_0^y \left(\frac{x-t}{x-y}\right)^2 K_{n,c,\alpha}(x;t)dt \leq \frac{\alpha}{(x-y)^2} \mu_{n,2}(x;c) \leq \frac{\alpha\lambda x(1+cx)}{n(x-y)^2}.$$

The proof of (ii) is similar.

### 3 Rate of Convergence

We have the following result.

THEOREM 1. Let  $f$  be an element of  $B_r[0, \infty)$ . If  $\alpha \geq 1, r \in N$  and  $\lambda > 2$  are given, then there exists a constant  $C(f, \alpha, r; x)$  such that for  $n$  sufficiently large

$$\begin{aligned} & \left| G_{n,c,\alpha}(f; x) - \left[ \frac{1}{\alpha+1}f(x+) + \frac{\alpha}{\alpha+1}f(x-) \right] \right| \\ & \leq 2\alpha \sqrt{\frac{1+cx}{2enx}} |f(x+) - f(x-)| \\ & \quad + \frac{6\alpha\lambda x(1+cx)}{nx} \sum_{k=1}^n V_{x-x/\sqrt{k}}^{x+x/\sqrt{k}}(g_x) + C\alpha 2^r \frac{(1+x)^r}{x^r} O(n^{-r}). \end{aligned}$$

where

$$g_x(t) = \begin{cases} f(t) - f(x-), & 0 \leq t < x \\ 0, & t = x \\ f(t) - f(x+), & t > x \end{cases},$$

$V_a^b(g_x)$  is the total variation of  $g_x$  on  $[a, b]$  and  $O(n^{-r}) = \mu_{n,2r}(x;c)$ .

PROOF. For any bounded variation function, it is know that

$$\begin{aligned} f(t) &= \frac{1}{\alpha+1}f(x+) + \frac{\alpha}{\alpha+1}f(x-) + \frac{f(x+) - f(x-)}{2} \left( \text{sgn}_x(t) + \frac{\alpha-1}{\alpha+1} \right) \\ & \quad + g_x(t) + \delta(t) \left[ f(x) - \frac{1}{2}f(x+) - \frac{1}{2}f(x-) \right] \end{aligned}$$

where

$$\operatorname{sgn}_x(t) = \begin{cases} -1, & 0 \leq t < x \\ 0, & t = x \\ 1, & t > x \end{cases} \quad \text{and } \delta(t) = \begin{cases} 1, & t = x \\ 0, & t \neq x \end{cases}.$$

It follows that

$$\begin{aligned} & \left| G_{n,c,\alpha}(f(t); x) - \left[ \frac{1}{\alpha+1}f(x+) + \frac{\alpha}{\alpha+1}f(x-) \right] \right| \\ & \leq \frac{1}{2} |f(x+) - f(x-)| \left| G_{n,c,\alpha}(\operatorname{sgn}_x(t); x) + \frac{\alpha-1}{\alpha+1} \right| + |G_{n,c,\alpha}(g_x(t); x)| \\ & \quad + \left| f(x) - \frac{1}{2}f(x+) - \frac{1}{2}f(x-) \right| |G_{n,c,\alpha}(\delta(t); x)| \end{aligned} \tag{4}$$

For the operators  $G_{n,c,\alpha}$ , it is obvious that  $G_{n,c,\alpha}(\delta(t); x) = 0$ . In view of Lemma 3 and Lemma 4, we first estimate  $G_{n,c,\alpha}(\operatorname{sgn}_x(t); x)$  as

$$\begin{aligned} G_{n,c,\alpha}(\operatorname{sgn}_x(t); x) &= -1 + 2n \sum_{k=1}^{\infty} Q_{n,k}^{(\alpha)}(x; c) \int_x^{\infty} p_{n+c,k-1}(t; c) dt \\ &= -1 + 2 \sum_{k=1}^{\infty} Q_{n,k}^{(\alpha)}(x; c) \sum_{j=0}^{k-1} p_{n,j}(x; c) \\ &= -1 + 2 \sum_{j=0}^{\infty} p_{n,k}(x; c) J_{n,j+1}^{\alpha}(x; c). \end{aligned}$$

Therefore, we obtain

$$G_{n,c,\alpha}(\operatorname{sgn}_x(t); x) + \frac{\alpha-1}{\alpha+1} = 2 \sum_{j=0}^{\infty} p_{n,k}(x; c) J_{n,j+1}^{\alpha}(x; c) - \frac{2}{\alpha+1} \sum_{j=0}^{\infty} Q_{n,k}^{(\alpha+1)}(x; c)$$

since  $\sum_{j=0}^{\infty} Q_{n,k}^{(\alpha+1)}(x; c) = 1$ . By the mean value theorem, it follows

$$Q_{n,j}^{(\alpha+1)}(x; c) = J_{n,j}^{\alpha+1}(x; c) - J_{n,j+1}^{\alpha+1}(x; c) = (\alpha+1)p_{n,j}(x; c)\gamma_{n,j}^{\alpha}(x; c)$$

where

$$J_{n,j+1}^{\alpha}(x; c) < \gamma_{n,j}^{\alpha}(x; c) < J_{n,j}^{\alpha}(x; c).$$

Then, using Lemma 1, we obtain

$$\begin{aligned} \left| G_{n,c,\alpha}(\operatorname{sgn}_x(t); x) + \frac{\alpha-1}{\alpha+1} \right| &\leq 2 \sum_{j=0}^{\infty} p_{n,k}(x; c) |J_{n,j+1}^{\alpha}(x; c) - J_{n,j}^{\alpha}(x; c)| \\ &\leq 2\alpha \sum_{j=0}^{\infty} p_{n,k}(x; c) p_{n,j}(x; c) \\ &\leq 2\alpha \sqrt{\frac{1+cx}{2enx}}. \end{aligned} \tag{5}$$

We now estimate  $G_{n,c,\alpha}(g_x(t); x)$ . By Lebesgue-Stieltjes integral representation, we have

$$G_{n,c,\alpha}(g_x; x) = \left( \int_0^{x-x/\sqrt{n}} + \int_{x-x/\sqrt{n}}^{x+x/\sqrt{n}} + \int_{x+x/\sqrt{n}}^{\infty} \right) K_{n,c,\alpha}(x; t) g_x(t) dt. \quad (6)$$

Let us denote the three integrals on the right hand side by  $E_1, E_2$  and  $E_3$  respectively. We first estimate  $E_2$ . For  $t \in [x - x/\sqrt{n}, x + x/\sqrt{n}]$ , we have

$$|E_2| \leq \int_{x-x/\sqrt{n}}^{x+x/\sqrt{n}} |g_x(t)| K_{n,c,\alpha}(x; t) dt.$$

Since  $|g_x(y)| \leq V_y^x(g_x) \leq V_{x-x/\sqrt{n}}^{x+x/\sqrt{n}}(g_x)$  and  $\int_a^b K_{n,c,\alpha}(x; t) dt \leq 1$ , for  $(a, b) \subset [0, \infty)$ , we conclude

$$|E_2| \leq \frac{1}{n} \sum_{k=1}^n V_{x-x/\sqrt{k}}^{x+x/\sqrt{k}}(g_x). \quad (7)$$

Next we estimate  $E_1$ . Writing  $y = x - x/\sqrt{n}$  and using Lebesgue-Stieltjes integration by parts, we have

$$E_1 = \int_0^y g_x(t) d_t(\beta_{n,c,\alpha}(x; t)) = g_x(y) \beta_{n,c,\alpha}(x; y) - \int_0^y \beta_{n,c,\alpha}(x; t) d_t(g_x(t)).$$

Since  $|g_x(y)| \leq V_y^x(g_x)$  we conclude that

$$|E_1| \leq V_y^x(g_x) \beta_{n,c,\alpha}(x; y) + \int_0^y \beta_{n,c,\alpha}(x; t) d_t(-V_t^x(g_x)).$$

Lemma 3 implies that

$$|E_1| \leq V_y^x(g_x) \frac{\alpha \lambda x(1+cx)}{n(x-y)^2} + \frac{\alpha \lambda x(1+cx)}{n} \int_0^y \frac{1}{(x-t)^2} d_t(-V_t^x(g_x)).$$

Integrating the last term by parts, we get

$$|E_1| \leq \frac{\alpha \lambda x(1+cx)}{n} \left[ x^{-2} V_0^x(g_x) + 2 \int_0^y \frac{V_t^x(g_x)}{(x-t)^3} dt \right].$$

Now replacing the variable  $y$  in the last integral by  $x - x/\sqrt{u}$ , we obtain

$$|E_1| \leq \frac{\alpha \lambda x(1+cx)}{n} \left[ x^{-2} V_0^x(g_x) + x^{-2} \frac{1}{n} \sum_{k=1}^n V_{x-x/\sqrt{k}}^x(g_x) \right].$$

Hence,

$$|E_1| \leq \frac{2\alpha \lambda(1+cx)}{nx} \sum_{k=1}^n V_{x-x/\sqrt{k}}^x(g_x). \quad (8)$$

Finally we estimate  $E_3$ . We put

$$q_{n,c,\alpha}(x; t) = \begin{cases} 1 - \beta_{n,c,\alpha}(x; t), & 0 \leq t < 2x \\ 0, & t = 2x \end{cases}$$

and  $z = x + x/\sqrt{n}$ , then

$$E_3 = \int_z^{2x} g_x(t) d_t(q_{n,c,\alpha}(x; t)) + \int_{2x}^\infty -g_x(2x) K_{n,c,\alpha}(x; t) dt + \int_{2x}^\infty g_x(t) d_t(\beta_{n,c,\alpha}(x; t)).$$

Let the three integrals on the right hand side be denoted by  $E_{31}$ ,  $E_{32}$  and  $E_{33}$  respectively. Then

$$E_{31} = g_x(z)q_{n,c,\alpha}(x; z) + \int_z^{2x} q_{n,c,\alpha}(x; t) d_t(g_x(t))$$

where  $q_{n,c,\alpha}(x, z)$  is the normalized form  $q_{n,c,\alpha}(x, z)$ . Since  $q_{n,\alpha}(x, z-) = q_{n,\alpha}(x, z)$  and  $g_x(z-) \leq V_x^{z-}(g_x)$ , we have

$$E_{31} = V_x^{z-}(g_x)q_{n,c,\alpha}(x; z) + \int_z^{2x} q_{n,c,\alpha}(x; t) d_t(-V_x^t(g_x)).$$

Applying Lemma 4

$$\begin{aligned} |E_{31}| &\leq V_x^{z-}(g_x) \frac{\alpha\lambda x(1+cx)}{n(z-x)^2} + \frac{\alpha\lambda x(1+cx)}{n} \int_z^{2x-} \frac{1}{(x-t)^2} d_t(-V_x^t(g_x)) \\ &\quad + \frac{1}{2} V_x^{2x-}(g_x) \int_{2x}^\infty K_{n,c,\alpha}(x; u) du \\ &\leq V_x^{z-}(g_x) \frac{\alpha\lambda x(1+cx)}{n(z-x)^2} + \frac{\alpha\lambda x(1+cx)}{n} \int_z^{2x-} \frac{1}{(x-t)^2} d_t(V_x^t(g_x)) \\ &\quad + \frac{1}{2} V_x^{2x-}(g_x) \frac{\lambda x(1+cx)}{nx^2}. \end{aligned}$$

Thus arguing similarly as in estimate of  $E_1$ , we get

$$|E_{31}| \leq \frac{2\alpha\lambda(1+cx)}{nx} \sum_{k=1}^n V_x^{x+x/\sqrt{k}}(g_x). \tag{9}$$

Again Lemma 4, we get

$$|E_{32}| \leq \frac{\alpha\lambda(1+cx)}{nx} \sum_{k=1}^n V_x^{x+x/\sqrt{k}}(g_x). \tag{10}$$

Finally for  $n > r$ , we can write

$$|E_{33}| \leq M \int_{2x}^\infty K_{n,c,\alpha}(x; t)[(1+t)^r + (1+x)^r] dt.$$

For  $t \geq 2x$ , using the inequalities

$$(1+t)^r \leq 2^r \frac{(1+x)^r}{x^r} (t-x)^{2r},$$

$$(1+x)^r \leq 2^r \frac{(1+x)^r}{x^r} (t-x)^{2r},$$

Lemma 2 and Lemma 4, we obtain

$$|E_{33}| \leq C\alpha 2^r \frac{(1+x)^r}{x^r} O(n^{-r}). \quad (11)$$

Combining the estimates of (5) -(11) we reach the required result. This completes the proof of the theorem.

## 4 Some Examples

Suppose the Szasz and Baskakov basis functions are defined respectively by

$$s_{n,k}(x) = e^{-nx} \frac{(nx)^k}{k!} \text{ and } b_{n,k}(x) = \binom{n+k-1}{k} x^k (1+x)^{-(n+k)}.$$

Just like operators defined in (2), we may define some other mixed Bezier variants of summation-integral type operators as:

(i) Szasz-Baskakov-Bezier operators

$$S_{n,\alpha}(f; x) = (n-1) \sum_{k=1}^{\infty} R_{n,k}^{(\alpha)}(x) \int_0^{\infty} b_{n,k}(t) f(t) dt + R_{n,0}^{(\alpha)}(x) f(0), \quad x \in [0, \infty)$$

where  $R_{n,k}^{(\alpha)}(x) = \left( \sum_{j=k}^{\infty} s_{n,j}(x) \right)^{\alpha} - \left( \sum_{j=k+1}^{\infty} s_{n,j}(x) \right)^{\alpha}$ .

(ii) Baskakov-Szasz-Bezier operators

$$B_{n,\alpha}(f; x) = n \sum_{k=1}^{\infty} L_{n,k}^{(\alpha)}(x) \int_0^{\infty} s_{n,k}(t) f(t) dt + L_{n,0}^{(\alpha)}(x) f(0), \quad x \in [0, \infty)$$

where  $L_{n,k}^{(\alpha)}(x) = \left( \sum_{j=k}^{\infty} b_{n,j}(x) \right)^{\alpha} - \left( \sum_{j=k+1}^{\infty} b_{n,j}(x) \right)^{\alpha}$ .

The approximation properties of the above operators are similar to the operators (2), but there are problems to find the estimation of  $S_{n,\alpha}(sgn_x(t); x)$  and  $B_{n,\alpha}(sgn_x(t); x)$  explicitly whenever we wish to obtain the rate of convergence for functions of bounded variation. Actually due to different basis functions the above method fails as one cannot find the exact relationship between the summation of one basis function with the integration of the different basis functions. The author [1] was also not able to give the answer of such problem. Still such type of problem may be considered as open problems.

**Acknowledgments.** The authors are thankful to the reviewers for making valuable suggestions, leading to a better presentation of the paper.



## References

- [1] V. Gupta, Rate of convergence on Baskakov Beta Bezier operators for functions of bounded variation, *Int. J. Math. and Math. Sci.*, 32(8)(2002), 471–479.
- [2] V. Gupta, Degree of approximation to function of bounded variation by Bezier variant of MKZ operators, *J. Math. Anal. Appl.*, 289(1)(2004), 292–300.
- [3] V. Gupta and U. Abel, On the rate of convergence of Bezier variant of Szasz-Durrmeyer operators, *Anal. Theory Appl.*, 19(1)(2003), 81–88.
- [4] V. Gupta, V. Vasishtha and M. K. Gupta, An estimate on the rate of convergence of Bezier type summation integral operators, *Kyungpook Math. J.*, 43(3)(2003), 345–354.
- [5] V. Gupta, M. K. Gupta and V. Vasishtha, Simultaneous approximations by summation-integral type operators, *J. Nonlinear Functional Anal. Appl.*, 8(3)(2003), 399–412.
- [6] C. P. May, On Phillips operators, *J. Approx. Theory*, 20(1977), 315–332.
- [7] R. S. Phillips, An inversion formula for semi-groups of linear operators, *Ann. of Math.*, 59(2)(1954), 352–356.
- [8] H. M. Srivastava and V. Gupta, A certain family of summation integral type operators, *Math and Comput. Modelling*, 37(12-13)(2003), 1307–1315.
- [9] X. M. Zeng and V. Gupta, Rate of convergence of Baskakov-Bezier type operators for locally bounded functions, *Comput. Math. Appl.*, 44(10-11)(2002), 1445–1453.